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I Analysis of dispute w"/n" regarding 85w and 5nxk nxmv

a

NJ72272 12T 171 RNADIN — our MW is attributed to n™
i Dissent: v 0T 7 pov "1 - if it were taken out in cup directly to another room, second room would be 110
ii ~ »”r agrees — since T9m would be so mashed up it would be Yva

1 owom same applies in first room

2 p”rcan’t compare getting mashed up once to getting mashed up twice
Story: R1nn 1 taught that w”"1’s reason was that any nkmv (n"0) mixed with something else is Y01
i 571 added in that that was also the rationale for N7 "1 "0V 1

ii ~ Challenge: isn’t that obvious
1 971 indeed, but even “obvious” things should be stated, per v. 1
iii ~ Confirmation: v ruled (n:1 MYNR RNavIN) contra vnan, that a MYW of corpse-mold that had ®inw 5 of dirt fall in —nnv
1 Rationale (37 »27 1237): inevitably, at some place there is more dirt than 12p7 > the 1w is deficient
(a) Challenge (737): inevitably, there is a place where ap1 is more than dirt; and dirt “joins” 27 and adds to Mww
2 Rather (7127): end is like formation of 2p7; just as when formed, must be “pure” ap3, else it is 111Y; so too at “end”
(a) Source: 32 mYnR ®navn - only if nn is buried in “antiseptic” environment (e.g. unclad, in marble casket)
(i) But: if buried in environment that may contribute to mold (e.g. wood casket or clad) —no a2
(if) Note: 2p1 only applies to someone who died; not someone who was killed (and bled out)
Revisiting: n:T MYnR RNavin —& 2:3 w™ also rules (again, contra v'nan) that if a MW of 1p1 is spread through a house, Mo
i Justification: if we only had 1+t case, perhaps 1127 are Xnvn since 171 is in one place, but not in 274 case
1 And:if we only had 2" case, perhaps v is 1nvn since we can’t extend 5nR (9’nRNY MM 2NRN PR) but not in 15t — R
Related xr1712: 2:3 MYNR RNADIN — a MW+ of cemetery dirt is Xnvn, per onIN; W™ is INVN
i Rationale: impossible to have that much cemetery dirt without 1w of mold
ii  Note: once we’ve established that w™ is 9non mold due to nYnn::1910, why is he 7nvn the placenta?
1 Answer (7217 77): due to 112 Y1001 (the 191 is 01 to the nTY MMT)
2 Confirmation: 1301 "1 stated that w™ and »"ar1 had the same approach
(a) " our case
(b) »7an7: X3 M - if a noa nna “births” a clod of blood, it is buried and she is N0 from N3
(i) &7n 77 and there is no RwM Yan NRMY for contact with it — buried to publicize that mother is "Man 1n "Mvo
(i) 2r92 77 reason it is RwM Yann NN (even though it is a valid 19m) — due to 2172 Hva
Further on ©"7's approach: even though he declares house to be 1910, mother still has 1% nkmY — per v. 2
i Meaning: even if she only birthed something similar to the seed — nxno
57aw7. if they shook the 921 up in its waters, like a nn whose features are erased — not Ynxa xnvn
i 7 what is source that such a nn isn’t Ynxa rnon?
ii ~ Proposal: ruling that a nn who is burned up and just skeleton remains is Xnv
1 And: once they declared big openings (in house to other rooms) —0’xnv, but not little openings (can’t get it out)
2 But:instead of inferring that if the skeleton were gone, all would be mnv;
(a) Rather: infer that if skeleton were gone, even small openings would be o&nv, as it could go out via there
iii  Analysis (8715 8237): 1370y "1 was following r»9R "3 (2:am5nR) — who defines MW of human ashes at apn yan (i.e. still xnon)
1 Note: a nn could be fully burnt up but have skeleton intact if he were burned on rough pelt (axr), on marble (x17)
(a) Or:if he were singed

II  o:7 nm ®noown — if she is Yan a shaped arm or leg — mother is N5 NknY and we aren’t concerned it comes from DoR q1

a

b

However: X110 1”2 Nam R7on "1 — we do not grant her 91mv "; perhaps the “birth” was a long time ago

Challenge (9077 7): 1:3 0T — if she is »an and we don’t know what it is — has days of 151 and napa (X1 nY), including 1mv ">
i But: if we have such concerns, why not add the concern that she is a 01 here (and N1 was a long time ago)

ii  Answer (»ax): if we stated n71, we would think her j17p isn’t eaten — but it is eaten

~277 77 if the 721 put out its hand and then withdrew it — she is "% nxnY (per v. 3)

i Challenge (717 37): if the 92 puts out its hand and then retracts it, mother has no wwn at all

it~ Answer (279): from 0”1 — she is wwIn but doesn’t get 1MY " (“no WWN” —is RNPNXT; v. 3 invoked is an XNJNoOR)
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